



LABOUR

10 - 12 Oxley's Hill Road Bowral NSW 2576 PO Box 168 Bowral NSW 2576

Phone: (02) 4868 8400

Invoice To: 21587 SILVERDALE BLOODSTOCK 1091 SHEEPWASH ROAD AVOCA NSW 2577

* * * CASH SALE * * *

Email: accounts@landhq.com.au ABN 20 606 522 196 ACN 606 522 196

SERVICE TAX INVOICE

Document No.: 403261 Document Date: 29/08/2023 Repair Order No.: 73955 Reao No.: M897902 Make/Model: JOHN DEERE 6125M Vehicle ID No.: 1L06125MTHX897902 Paint: Odometer: 1105 Delivery Date: 15/03/2018 Invoice To: 21587 Customer ABN:

Tax Exempt No.: P/Order No.:

Page: 1 of 4

INSURANCE REPAIRS (*** PLEASE MAKE SURE THE QUOTE AND ALL CORRESPONDENCE TO AND FROM THE ASSESSOR/

INSURANCE COMPANY IS ATTACHED TO THE NOTES SECTION ON THE RO ***

INSURANCE QUOTATION FOR VARIOUS REPAIRS THAT THE TRACTOR REQUIRES TO GET BACK TO GOOD WORKING \$3,461.70

ORDER AND CONDITION.

Removed and replaced leaking steering hose.

Removed damaged washer bottle and pump - Fitted new washer bottle and pump.

Removed RH step- fitted new jump terminal and plastic covers.

Fitted new battery box slash / mud guard.

Re- fitted RH step.

Removed Bonnet and dis assembled.

Removed head lights / work lights and bonnet catch. Replaced bonnet mesh with new unit and re assembled.

Removed bonnet top panel and replaced with new top panel.

Fitted new emblem to bonnet mesh.

Re- fitted bonnet.

Fitted new hose and loader float access panel as this was missing from loader.

Replaced missing loader level indicator arm.

Fitted missing grill guard and front mud guard with used items from yard.

Fitted missing beacon and bracket with used items.

Tested tractor - all OK.

Part Number	Part Description	Quantity	Nett Value	Total Cost
19M7866	Screw	6.00	3.28	19.68
AL231624	Reservoir	1.00	358.55	358.55
19M7286	Cap Screw	1.00	1.80	1.80
AL211618	Label	1.00	162.11	162.11
16M7101	Rivet	8.00	5.10	40.80
14M7397	Lock Nut	1.00	2.10	2.10
19M7269	Cap Screw	1.00	3.33	3.33

www.landhq.com.au





10 - 12 Oxley's Hill Road Bowral NSW 2576 PO Box 168 Bowral NSW 2576

Phone: (02) 4868 8400

Invoice To: 21587 SILVERDALE BLOODSTOCK 1091 SHEEPWASH ROAD AVOCA NSW 2577

* * * CASH SALE * * *

Email: accounts@landhq.com.au ABN 20 606 522 196 ACN 606 522 196

SERVICE TAX INVOICE

Document No.: 403261 Document Date: 29/08/2023 Repair Order No.: 73955 Rego No.: M897902 Make/Model: JOHN DEERE 6125M Vehicle ID No.: 1L06125MTHX897902 Paint: Odometer: 1105 Delivery Date: 15/03/2018 Invoice To: 21587

Customer ABN: Tax Exempt No.: P/Order No.:

Page: 2 of 4

	LEASE MAKE SURE THE QUOTE AND ALL CORRESPONDEN	ICE TO AND FROM THE	ASSESSOR/	LABO	<u>DUR</u>
	TTACHED TO THE NOTES SECTION ON THE RO ***				
AL231783	Pump	1.00	78.38	78.38	
19M7389	Cap Screw	2.00	7.57	15.14	
CC106606	Lock Washer	2.00	2.78	5.56	
24M7139	Washer	1.00	2.30	2.30	
AL209632	Holder	1.00	177.73	177.73	
AL207283	Holder	1.00	83.04	83.04	
14M7313	Lock Nut	1.00	4.84	4.84	
14M7299	Flange Nut	1.00	4.17	4.17	
L216300	Marker	1.00	30.38	30.38	
T77857	O-Ring	6.00	4.43	26.56	
L59800	Nut	10.00	3.86	38.60	
L212822	Grille	1.00	243.22	243.22	
L210462	Holder	1.00	13.74	13.74	
FRT	Freight On Parts	1.00	40.00	40.00	
L213847	Screw	8.00	1.84	14.72	
L214138	Clamp	1.00	12.71	12.71	
L210459	Cover	1.00	31.72	31.72	
L224715	Retainer	1.00	94.72	94.72	
L225239	Screw	1.00	7.74	7.74	
Comments: Ex O/S					
L225259	Hood	1.00	2,292.84	2,292.84	

www.landhq.com.au





21587

10 - 12 Oxley's Hill Road Bowral NSW 2576 PO Box 168 Bowral NSW 2576

Phone: (02) 4868 8400

Invoice To: 21587 SILVERDALE BLOODSTOCK 1091 SHEEPWASH ROAD AVOCA NSW 2577

* * * CASH SALE * * *

Email: accounts@landhq.com.au ABN 20 606 522 196 ACN 606 522 196

SERVICE TAX INVOICE

Document No.: 403261 Document Date: 29/08/2023 Repair Order No.: 73955 Rego No.: M897902 Make/Model: JOHN DEERE 6125M Vehicle ID No.: 1L06125MTHX897902 Paint: Odometer: 1105 Delivery Date: 15/03/2018

Invoice To: Customer ABN: Tax Exempt No.: P/Order No.:

Page: 3 of 4

INSURANCE REPAIRS (*** PLEASE MAKE SURE THE QUOTE AND ALL CORRESPONDENCE TO AND FROM THE ASSESSOR/							
		1.00	199 11	199 11			
•							
		1.00	62.07	62.07			
Label		1.00	130.21	130.21			
Brake Line		1.00	283.65	283.65			
Oil Line		1.00	285.80	285.80			
Bezel		1.00	194.36	194.36			
Pad		1.00	6.27	6.27			
Clamp		1.00	23.01	23.01			
Bucket Level Indicator		1.00	191.18	191.18			
Nut		5.00	4.47	22.35			
Tie Band		1.00	19.25	19.25			
Half Clamp		2.00	18.57	37.14			
Screw		6.00	9.59	57.54			
Clamp		1.00	24.19	24.19			
Indicator		1.00	25.01	25.01			
Clamp		1.00	50.42	50.42			
Screw		5.00	4.79	23.95			
Handle		1.00	58.34	58.34			
Cover		1.00	197.64	197.64			
	Panel Label Mounting Parts Holder Label Brake Line Oil Line Bezel Pad Clamp Bucket Level Indicator Nut Tie Band Half Clamp Screw Clamp Indicator Clamp Screw Clamp Screw Handle	Panel Label Mounting Parts Holder Label Brake Line Oil Line Bezel Pad Clamp Bucket Level Indicator Nut Tie Band Half Clamp Screw Clamp Indicator Clamp Screw Clamp Screw Handle	FACHED TO THE NOTES SECTION ON THE RO*** Panel 1.00 Label 1.00 Mounting Parts 1.00 Holder 1.00 Label 1.00 Brake Line 1.00 Oil Line 1.00 Bezel 1.00 Pad 1.00 Clamp 1.00 Bucket Level Indicator 1.00 Nut 5.00 Tie Band 1.00 Half Clamp 2.00 Screw 6.00 Clamp 1.00 Indicator 1.00 Clamp 1.00 Screw 5.00 Handle 1.00	TACHED TO THE NOTES SECTION ON THE RO *** Panel 1.00 199.11 Label 1.00 7.71 Mounting Parts 1.00 62.07 Label 1.00 130.21 Brake Line 1.00 283.65 Oil Line 1.00 285.80 Bezel 1.00 194.36 Pad 1.00 6.27 Clamp 1.00 23.01 Bucket Level Indicator 1.00 191.18 Nut 5.00 4.47 Tie Band 1.00 19.25 Half Clamp 2.00 18.57 Screw 6.00 9.59 Clamp 1.00 24.19 Indicator 1.00 25.01 Clamp 1.00 50.42 Screw 5.00 4.79 Handle 1.00 58.34	TACHED TO THE NOTES SECTION ON THE RO*** Panel 1.00 199.11 199.11 Label 1.00 7.71 7.71 Mounting Parts 1.00 62.07 62.07 Label 1.00 130.21 130.21 Brake Line 1.00 283.65 283.65 Oil Line 1.00 285.80 285.80 Bezel 1.00 194.36 194.36 Pad 1.00 6.27 6.27 Clamp 1.00 23.01 23.01 Bucket Level Indicator 1.00 191.18 191.18 Nut 5.00 4.47 22.35 Tie Band 1.00 19.25 19.25 Half Clamp 2.00 18.57 37.14 Screw 6.00 9.59 57.54 Clamp 1.00 24.19 24.19 Indicator 1.00 50.42 50.42 Screw 5.00 4.79 23.95 Handle		

www.landhq.com.au





10 - 12 Oxley's Hill Road Bowral NSW 2576 PO Box 168 Bowral NSW 2576 Phone: (02) 4868 8400

> Invoice To: 21587 SILVERDALE BLOODSTOCK

1091 SHEEPWASH ROAD AVOCA NSW 2577

* * * CASH SALE * * *

Email: accounts@landhq.com.au ABN 20 606 522 196 ACN 606 522 196

SERVICE TAX INVOICE

Document No.: 403261 Document Date: 29/08/2023 Repair Order No.: 73955 Rego No.: M897902 Make/Model: JOHN DEERE 6125M Vehicle ID No.: 1L06125MTHX897902 Paint:

Odometer:

1105 Delivery Date: 15/03/2018 Invoice To: 21587

Customer ABN: Tax Exempt No.: P/Order No.:

Page: 4 of 4

INSURANCE REPAIRS (*** PLEASE MAKE SURE THE QUOTE AND ALL CORRESPONDENCE TO AND FROM THE ASSESSOR/ **LABOUR** INSURANCE COMPANY IS ATTACHED TO THE NOTES SECTION ON THE RO *** PXX11241 Plate 1.00 86.91 86.91 TY25624AU 14.88 Green Spray Paint 2.00 29.76 TY25627AU Yellow Spray Paint 13.59 13.59 1.00 CC53647 65.02 65.02 Plate 1.00 Parts Totals: 102.00 \$6,031.17

Miscellaneous Charges

Environmental Levy \$5.00 Consumables \$200.00

Advisor: EMILLY MAY

Sub Total for All: \$9,697.87 Rounding: \$0.00 GST: \$969.79

Total:

\$10,667.66

PAYMENT OPTIONS:

PayID: 20606522196

Bank Details: WESTPAC WAGGA WAGGA BSB: 032769 A/C No: 762406 **PLEASE QUOTE YOUR ACCOUNT NUMBER IN THE REFERENCE**

Our goods come with guarantees that cannot be excluded under the Australian Consumer Law. You are entitled to a replacement or refund for a major failure and for compensation for any other reasonably foreseeable loss or damage. You are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable quality and the failure does not amount to a major failure. Payment Terms strictly cash unless terms authorized.